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Booklet Code AM 2006 A
Marks : 160

/A

Time : 3 Hours
Instructions :

- Each question carries one mark.
18 | SHB e ey Sod.
- Choose correct answer to the following questions and darken, with HB pencil, the

corresponding digit 1, 2, 3, or 4 in the circle pertaining to the question number
concerned in the OMR Answer Sheet, separately supplied to you.

s gy (8 JHH J0RY ISrerISed 28R oD Brlod eo3
1,2,338% 4 3%ce gy OMR S8rerd §|8806° BN SowoBods domghie
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- Study the following lists :
List 1
{A) Zacharias Janssen
{(B) Camerarius
(C) Stephen Hales

1.
I
L.

(D) Knoll and Ruska Iv.
: V.
Go~ 808 erderod: oFzabio *dabod

' meDav |
(A) BEOWGE edS I.
(B) 88068 I1.
(C) ¥BsS &y 11
(D) o€ Hbotn &I, Iv.
V.
The correct match is :
58 S0&LS E°8o0F:
(A) (B) (C) (D)
(1) \'J I1 IV I11
w1 I 11 V
(3) I1 IV | 111
(4) \'4 [I 111 I

List 11
Sexual reproduction
Conduction of water
Compound microscope
Crystallization of urease
Electron microscope
Do 11
Sohy | SdigEns,
NE B8
Soding mﬂﬁdﬂaﬂ
e dshS #yd8gde
QoIS SreH S8

L

Which one of the following has epiphytic features and aerial and flattened pho-
tosynthetic roots, without formal organization of stem and leaves ?

(1) Tinospora (2) Trapa

SE°58D ofcren S0k SrauiSor, BeIHHT o
Srshren Trodsn SHoy ZEsve ﬁgﬁ% a0 Swy S B0d &0

W dlarbed

(1) &5°¥%oe

(2) wea=

Taeniophyllum (4) Vanda

Faofgde 3?; 508,

a8?
(4) s=oc
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Parts of two plants were observed. Structure A davelup_é aerially and produces

roots when comes in contact with the soil. Structure B develops from underground
part of the stem, grows obliquely becomes aerial and produces roots on its 1ower
surface. Identify, respectively the structures of A and B :
(1) Sucker, Stolon (2) Stolon, Runner

\4 Stolon, Sucker (4) Runner, Stolon
Sod: BuHeod 083 grre 50%0odelsd A wd ‘Voycso m-:‘.iinﬁéam 2858
S8 5% e8s S'e TN 20008, B ©d doymo .ﬁnas He odsn
&S gedio ol "‘da& INTEES UYL T 1T L&Eﬁ s Bq‘j;ﬁ @3#*
0TS an& ¥o Todk Dogmreds FHed®, (HhBoScd :

(1) So¥f Jufy, Mo 2) o, 656 >
Aeori, Do¥ Snfy 4) %6, E‘ﬁﬂv.ﬁa

Study the following table : :

1.  Polysiphonous Floral nectaries Simple sieve plate
pollen

II. Angular collocyte  Monosiphonous pollen  Synandry

ITI. Inserted stamens Simple leaves Spines

V. Exerted stamens Reticulate divergent Pepo

venation

Select the correct pair of answers in which the former in the pair shows the set
of characters present in Cucurbita and the latter in the pair shows the set of character
nt in Acacia :

ﬁeland mo A1 and 11

(3) 11 and III (4) II1 and IV

e (806 aﬁﬁ:‘»‘i} ®gahio SaHod :

L mmm#uﬁna Dy SEod Hoghen SOV a*u!l Sodo
Soeidmodpen

I §°das &ref'e  dFocvans Sodng FSoeas?
‘SeeEreo SoetiBoudhes

III. 55538 ddores JEE Seren Sotmren

IV. aE‘aa‘ BSoeen ey ©5508 -l

fede argaEdo

08 gund ddreoed aded® wdd D, Iwads Bkabper 50A Hoy ofarod,
Srd0d, TodSs e3ndrd® B ofored SmiHEos.

SOGkN Sarord wdd hlodHeds ¢
Wﬁi S I1T I Soans 11

(3) II sbasw III (4) IIT &ebosm IV
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Arrange the following plants in the ascending order based on the number of carpels
they possess :

I.  Oenothera [1. Acacia melanoxylon

III. Squill IV. Lettuce

o (808 Swf o, ol SOF Jodre Jopy sordorr e Sar FS08” el
. &5*8o II. s3har Do Bowd

I11. 5&35 V. Ewﬁﬁ

The correct sequence is :

&) BBSHE SHEESo:

(1) IV, I, I, 11 WwoO 1, v, I, 1 '
(3) 1II, I, IV, I (4) I, IV, 111, II

In the fully organized polygonum type of embryosae, what is the ratio of haploid,
diploid and triploid nuclei ?

e SgShEde 3068, TBHES o¥o LodS'o 6D 2INBY, GyabhEs
Hbots (Bawhoy Bowe Iy 282 * !
(), 3:1:3 2) 6:0:1

€ 6:1:0 4) 3:2:8

What type of cell division takes place in the functional megaspore initially in
angiosperms 7
Homeotypic without cytokinesis
(2) Reductional without cytokinesis
(3) Somatic followed by cytokinesis
(4) Meotic followed by cytokinesis
o3y8 Lered® Barg)y dro DO Deswd®, @Cogod® 2 SURS e
ash? z
VY SnEsSy dges B SHErsy Jged
(2) smSs8y JFes o0 gavsie dged
(3) obo¥ JFed ©HS0od FoESy JFes
(4) Hondte Qfed ©H3bow e fdy Jfed

Coffee plant has chromosome number of 2n in its somatic cells. What is the
chromosome number in the edible part of coffee seed ?

T Sofy augy elcat Sored®l §%3~E°sve Sowg 20 B Iy, 60
g8y pefo Qe Sared'd SParEdwe Sopg  Sod?

1 n W 2n -

(3) 3n (4) 4n
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Two dry fruits (A and B) were observed. Both developed from uni-locular ovaries
of monocarpellary gynoecia. In fruit A, pericarp and seed coat are free. It liberated
the seeds only after the disintegration of the pericarp. Fruit B dehisced dorsiventrally
liberating the seeds. In the following the former in the pair represents A and latter
B. To which types of fruits, A and B respectively belong ?

vfﬁ Achene and legume (2) Nut and follicle

(3) Cypsela and siliqua (4) Pyxidium and septicidal capsule
Godh % Poren (A SLdan B) wgansdo i&cﬁma:un. Todr LESesSy, D
Doahd woar¥dto $od SHHAID. A o3 Foob® Fessso, Dussres sloangor
@D S $ood*d VETrw Jo¥S¥o Jdods Howd SrmEd JLdeHod
Hehlowrd. B ud FHwo SyRess Serd® SAD Yo IHbe Jiiod. e
808 w86° FusSs A SO BodSd B SrdoSwbdss. ¥ Dol (A
8% B) Fdhor O Fo wak [odSD?

Vv b, agdcesy 2) Bokte, SEDarss

(3) ®3yoe, DD (4) B8y8a%o, HeDEE (VY

10:

» In which one of the following the usual taxonomic hierarchy is not followed ?

(1) Polypetalae and Gamopetalae
(2) Gamopetalae and Monochlamydae
Monochlamydae and Monocots
(4) Polypetalae and Monocots
G (808 nd0d®, Srdre SBIde Fore Fao Fdoswad B6?
(1) 20erd HNo0c MIArTers
(2) r3rDere Hbak  IreS'sd

VO arS'sda moan Ssvbare

(4) O erd S0cn afsvlee
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Assertion (A) : A morphology based approach to taxonomy .is called ‘alpha
taxonomy’ and it is old fashioned.

Reason (R) : A multi-disniplinar:,r approach to taxonomy called ‘Omega
taxonomy' is favoured in recent years, as it excludes
morphological features.

{1) A and R are true and R is the correct explanatmn of A

(2) A and R are true but R is not the correct explanation of A

A is true but R is false

(4) A is false but R is true .

Dﬂai a*Sgo (A) : c=3eo Sded a'.g:a‘t& ascedoiad 553’55& Faﬁm'\ laa::v;
58¥0m qm.-.u woereth, ©bh & ucanm-u, Son

mimo (R) s ndv Qode noel aoedoing SB¥8e esT, o S880s

30, geavy SUrd ofaee DM anoSEHED, sdS0 Tho&®
ulte J*edI6.

(1) A b R S06LER. A 5 R 580kd 80w

(2) A sbo R ma&;x_aw. AnR:; a;m:f DS8m T

A .‘&B@dfi& e R ;:-‘?a'ﬁ;l._fﬁﬂ bl

4) A :'EEIUEJ_“I& =& md R 1‘35%{5&

+ Study the following lists :

List 1 List II
(A) Lactuca I. Next to Heteromerae
(B) Physalis II. Before Calyciflorae
(C) Althea I11. Next to Disciflorae
(D) Derris IV. Between Calyciflorae and Heteromerae

V. Between Thalamiflorae and Calyciflorae
1808 erlerod egzdbdo Datod :

o 1 Do II
(A) eo%pm I o620 3%owd
(B) 3365 1. 30T Swod
(C) wBosre 1L 82,3%3 3%3oed
(D) &8 IV. 30%3%0% YBT3

V. geeios IOLPIK K63
Correct match is : :

55 &°A.
= (A (B) (C) (D)
1 v v 111 1
(2, IV I I Y
v I 11 111

@ 1 11 I v
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2| The raw material obtained from which one of the following plants is used in paper

making ?
(1} Jerusalem artichoke M Oryza sativa
“gl Sorghum vulgare (4) Butea monosperma
G 308 JwHpest 3D Kb Soody FNEH Surebd® sdew?
(1) Berxdd 855 \M'c@_cav Tl
w PGS ssr;':sb" () erdate S Hpoy o

™, The triploid number of chromosomes of the first taxon is 10 times more than the

haploid number of chromosomes of the second taxon, while the diploid number
of the third taxon is 6 times more than the haploid number of the fourth taxon.
Which one of the following shows the ascending order of the number of chromo-
um;'u;s in their respective endﬂspérm ?
(1) Oryza—Allium—Saccharum—Nicotiana

ﬁ} Allium—Oryza—Nicotiana—Saccharum
(3) Nicotiana—Saccharum—Oryza—Allium
(4) Saccharum—Oryza—Nicotiana—Allium
Bnsd SN FHRBY Ao Jowy TodS ST DELAT Kowgh
10 3¢y, sorr, SvdS SC0E°R Sponhay Sopg Trod SYofT LELAY Sowgh
6 Ten. 8o 808 6T, B FU Gy LoRINSEY FrArTiIne Topgd,
w55y Fahod® HrpEod.
(1) mEm—uDd:S:—!m‘GSJ—E}E'dmnm

ﬁ chﬁ:S:'—m_E_m—aE‘duﬁvm—iﬂ‘ﬁ&
(3) R e —IgrSi—eBer—slas:
@) oS —eBe—0F 8 —eato
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Study the following lists :

List I List II
(A) Trapa 1. Trichosclereids
(B) Casuarina II. Lacunar collocytes
(C) Drimys II1. Swollen petiole
(D) Lactuca IV. Chalazogamy

V. Vesselless
G 808 erlerodn efaaddo Datoed :

geDee | Do 11 :
(A) |&~ar I &farwed &) dm:a't:u
(B) mexBam 1. sIm¥auns 5’6‘ ...a.
(€ BT I aByd S8boves
(D) 6‘533:1‘ IV. SerBtSo@mo

V., ovfiaed girve
Correct match is :

S8 £°4:
» « (A) (B) (C) (D)
(1) v | A 111
\/ﬂ 111 v v 11
(3) A 11 v 1
(4) 111 L' [l v
Assertion (A) : Libriform fibres are true fibres.
Reason (R) : Libriform fibres develop from non-functional tracheids by
reduction.

(1) (A) and (R) are true and (R) is the explanation for (A)

(2) (A) and (R) are true but (R) is not the explanation for (A)
(A) is true but (R) is false
(4) (A) is false but (R) is true

N8 ao¥go (A): OB e ®I8s e

w&so (R) : DEIES U Iy arSodRd ool Swre wol Furitn
FS06® Soderon

(1) (A) &8s (R) S0ck&a. (A) & (R) S06ks L&

(2) (A) 8o (R) S8abaa. =l (A) & (R) 80&bS adda =&

vﬁn’ (A) 36626 =R (R) BOGLIE e

(4) (A) aa@m T T (R) md-::.
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Which one of the following statements is correct, for “Bundle sheath of monocot

leaves is similar to that of monocot stem”, as both them :

(1) Possess outer layer of chlorenchyma and inner layer of thick walled cells without
chloroplasts

(2) Possess extensions made up of sclerenchyma

(3) Resemble the endodermis in possession of casparian strips

o
\% Encircle the vascular bundles, which are conjoint and collateral

Yogavle HEn Sbam L5 fed modip o0 Hows Sthes ol
Do aoceron’’ ©F oD HOoD Ho 808 oegegest D6 SO0GLIS? e
codm

(1) wobd Po8® 08 Snwrordy Hias €30 0F* oDy AEos’,
TTs08 dmspes 8D sorod 58H aocerow

(2) &dere 98 opdored: ¥0AH dowvox

(3) o sden Ko, wo¥HGx 3T aowrow

A Sodkny, &‘ﬂ'aﬂﬁﬁ TV Homreddh ﬁ:ﬁu & odT 0w

18.

Which of the following is indicative ‘of the term alburnum ?
(1) Spring wood (2) Autumn wood

(3) Heart wood v‘f Sap wood

G (8o& D0 28 woyf)dd SredXed?

(1) S5c8 e (2) LTt

(3) Eoﬁcr:cbaij Wﬁ:‘:ﬁmﬁ:a&:
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Study the following lists :

List [
(A) Population I.
(B) Community IL.
(C) Ecosystem I11.
(D) Ecosphere V.

Y.

& 808 erBered efyabdo Sabod :

- efae 1
(A) eoege S
(B) #osuo I1.
(C) vidm Sz I11.
®
D) farsdwmo V.

The correct match is :
a8 SBobd £%805 :
(A) (B) (C) (D)

(1) I IV \'/ 111
(2) vV 11 I11 I
(3) II III v IV

111 11 Y |

AM 2006 A

List II

Part of the earth consisting of all the
ecosystems of the world.

Assemblage of all the individuals
belonging to different species occurring
in an area

Group of similar individuals belonging
to the same species found, in an area.
Interaction between the living organisms
and their physical environmental
components,

Classification of organisms based on the
type of environment.

e 11

dPher serSod D (HSeTod 'l e
6300 SgETeE° a3 fraodeot
Satete]

Ly | FoSod® JIod DAY wedel
HobS ooE sdrore Sdmdvas
e¥ |@rodod® AShod wd =88 Sobd
EPho Ssuedesn

83, s o Ppewo HFy wd SEHY
S8ges

wide wg bevg Ao Sbuss
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A student collected a hydrophyte with swollen petiole and with a single vascular
bundle in the root. The plant which he collected was : :

(1) Jussiaea w Trapa

{3) Ceratophyllum (4) Potamogeton

afpd HF Syoso EOA, IWSodH B U Posdn FOAS & Iy
e¥ Daegd DEOODH. ®ER DEODS Jndy

Q) e v oo
(3) %:;;35’?.@5: (4) SrearderS
Study the following lists :
List I List II
(A) Apophysis I. Funaria
(B) Columella II. Cycas
(C) Columella I11. Funaria
(D) Apophysis 1V. Spirogyra
V. Rhizopus
e 308 erDerod w&gahdo Satol :
o | . Do [l
(A) ©T*PBS L gt
(B ‘sesdor tOIL 2R
(C) reundior I11. i}gﬁadﬁn
D) ©2*328 IV. 236%30
V. 3&°55
The correct match is : V
?SIE;E s
(A) (B) (C) (D)

(1) I IV I1I 11

I11 Vv 1 11
I1 I A" I11

4) 1II I1 I \Y

If sexual reproduction takes place between the filaments of rhizopus of different
strains, one with 80 nuclei and another with 24 nuclei, what would be the total
number of spores of different strains put together ?

0 dPSrw Ko BELSS Sodiaped® wid 80 dorods, 658’24 doSe
g0ASD, Bohy Lé?:gi;ﬁ_é" Eﬂrﬁ:a‘ﬂa. 28yd By DS ares Ho ?ar.E' feme
dxdo Hompg «od? '

(1) 24 (2) 48

7 9% (4) 114
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Study the following lists :

List I List II
{A) Apospory in pteris takes place in I.  Sporophyte
(B) Endosperm in cycas II. Gametophyte
(C) Calyptra in funaria 111, Sporophyte
(D) Nucellus in cycas IV. Gametophyte

V. Gametophyte
808 erBered ofgabdo datoed :

who I el 1
(A) B85 hbe oirsgo sehds 1 2E Baso
(B) ":siﬂ'ﬁ woligdySan II. Soart Bedo
(C) sHgoade =03 I11. ?;::g fudo
(D) EE’E woagrod SmEreo IV. Zo&@rs bado

V. &ociess Beso
The correct mateh is :
a8 Hoahd &%803:

@ ®  © o
vi 1 v v oo
@ 1 vV m
@ v 1 v oo
(4) 1II II | IV

What is the ratio of equational divisions that take place in cycas and angiosperms
respectively during the formation of male gametes from pollen gains ?

Soorf Jemapo S0l HHH Derer DT SHawoE® KM I JFese, DET
Hooe ef)8 fered® Sosce 2 HVE° Howron?

(1) 3:2 2) 3:1

ve 2:1 | 4) 2:3
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Assertion (A) : Clonal selection is a method of breeding in sugarcane.
Reason (R) 1 Sugarcane is propagated through suckers.' '
(1) (A} and (R) arc true and (R) is the explanation for (A)
{2) (A) and (R) arc true but (R) is not the explanation for (A)
W (A) is true but (R) is false
(4) (A) is false but (R) is true
APS rEgo (A) @ IEHNE* °3E Jomds wf FelE Derdse
=fmo (R) P BER Sofe oo o0l Jokdod
(1) (A) S8c (R) Sose 8660, (A) & (R) 506k SSUwm
(2) (A) &base (R) Sodor ﬁﬂﬁ?ﬁ;ﬁi. oo (A) 5 (R) 08 a0 oG
W (A) 366058 TR (R) S0GHS8 w& 3
(4) (A) -‘35@:“5& oS oom (R) E&&{IE:?JE:

23,

Triticale is a hybrid formed from the members belonging to the following
families :

(1) Brassicaceae and Poaceae w Poaceae and Poaceae

(3% *Poaceae and Fabaceae =« (4) Alismaceae and Poaceae

te 1808 Sodvomrel: Do defe S&dp Dofis IEdore L:!!d'ﬂé- -;,ﬁ S0
(1) @o08%h S0 D0ab% . o Skl S0an 296k

(3) LY Hbas JFUN (4) =& ‘*;?,.‘* Sobcs 8L

Assertion (A) : Restriction endonucleases are also called ‘molecular scissors'.
Reason (R) ¢ When fragments generated by restriction endonucleases are
mixed, they join together due to their sticky ends.
(1) (A) and (R) are true. (R) is the correct explanation for (A)
(A) and (R) are true but (R) is not the correct explanation for (A)
(3) (A) is true but (R) is false
(4) (A) is false but (R) is true
A& aeHgo (A) Biuguﬁ' Jﬁﬁﬁﬂmﬁaﬁtﬂ,ﬁﬂm oo Eﬁﬁw ol g soevd.

~fwo (R) : n:w;i;"& mDEﬁtw'“ﬁtﬁ-tE@ @ oe wﬁ“*ﬁﬁﬁ pobersd: S0LS5y®,
wéﬁ;ﬁ‘ 5 Tr‘ﬁm S odies JS::J... =a) wﬁ:ﬁ"‘* owmo,
(1) (A) S:8af: (R) & . (A) B (R) ; ﬂu.mﬁ wa

w? (A) &0t (R) .,;acnmrﬁa =2 (A) % (R) 38603 DS6w 36
(4} (A) K}ﬁﬂai_ﬁﬁ i Tl {R] ?JED-EEEE
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Through which method, more number of female plants can h-e produced in
papaya ?

(1) Spraying ethephon {2) Genetic engineering

(3) Polyploidy breeding W’ Tissue culture

D B88 ogor STIpow JHET B IO mﬁ&bﬁm a&y8 JokdSSn?
(1) ﬂ@%"cﬁ e {2} u:cb* gor 8o

(3) o= taﬂa' CLEE wﬁmw_w JE:SQ

A soil sample is found to have 25% of its volume occupied by soil water. Of this,
10% is hygroscopic water and the remaining is capillary water. What is the field
capacity of this soil ?
Lf $388 ISerE® I PIS0SrE (SSrEEs 25% SH Kok, wokHE
10% s|=385 soo icw WAHOSS IWx weo. Jo SHBY A5y HF ee
Ha8 od?
(1) 10% (2) 15%

25%  (4) 35%

33.

By which mechanism, the salt resistant plants can get rid off excess Na® ions
to the outer -side, through the roots 7
(1) H*-ATPase uniport system
(2) Na*-ATPase uniport system
(3) H*-CI” symport system
M Na*-H*antiport system.
odo H86°6% Anmes® 83508 Na* vardd SHoge vabdd Soa aro@lo
882 | |
(1) H'-ATP&LE oreR@®8 dimo@¥o
(2) Na'-ATP&:E ohrl@% ateoiB¥o
(3) H'-CI” & owro@0

\ﬂ( Na*-H'sod2%  oro@80
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Study the following lists :

List 1 List 1I
(A) Oxygen evolving complex I. Potassium ferric oxalate
(B) Proton gradient II. High oxygen concentration
(C) Hill reagent I11. ATP synthesis
(D) Photo-respiration IV. Pheophytin

V. Photolysis of water

te (fod erlerod edgaddo Tabold :

eeloe [ m=Do= 11
(A) sdhid RHS Solo L Fretatd 08 widd
(B) @erde g8 II. 0y Guf)y wdy mgs
(C) é 58g50 I1I. ATP &odde
(D) o208 eeas8an IV. 3&@~288

V. o8 ae ::'ia’a
The correct match is :
B0 S0GhE &°80p:
(A) (B) (C) (D)
w’ v 111 I 11
@ 1 I v v
@ Vv I v 1

(4) 1 v I11 Vv
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Study the following lists :

List 1 List 1I
(A) Oxygen evolving complex I. Potassium ferric oxalate
(B) Proton gradient II. High oxygen concentration
(C) Hill reagent I11. ATP synthesis
(D) Photo-respiration IV. Pheophytin

V. Photolysis of water

te (fod erlerod edgaddo Tabold :

eeloe [ m=Do= 11
(A) sdhid RHS Solo L Fretatd 08 widd
(B) @erde g8 II. 0y Guf)y wdy mgs
(C) é 58g50 I1I. ATP &odde
(D) o208 eeas8an IV. 3&@~288

V. o8 ae ::'ia’a
The correct match is :
B0 S0GhE &°80p:
(A) (B) (C) (D)
w’ v 111 I 11
@ 1 I v v
@ Vv I v 1

(4) 1 v I11 Vv
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Study the following table :

I. Dehydration Condensation - Decarboxylation
I1. Isomerisation Decarboxylation Hydration

I11. Decarboxylation Condensation Hydration

1IV. Condensation Decarboxylation Isomerisation

Select the correct pair of answers in which the former in the pair shows the set
of reactions taking place during Kreb's cycle and the latter in the pair shows the
set of reactions that do not take place during glycolysis : !

(1) T and III (2) I and 11

{3) 1I and III (4) II and IV

e 808 :‘&%Em w&gabao oabol

I. ;Ifba’ﬁmo Sofisemo aavu-aﬁaéag
II. =dSBHSS Ao 8 das sebssso
M1, Aseoen8\85S Soidumo EELEGET
IV. Soidvmo Aeeon88as o SDEES

Bo8 aps JSreed edod®, eEd*d andde @5 Soabed® =88 Jogm
Sr00d8. BodSs GwOLE Ehe6® B Sogosd SDAHIHAM D HSES
pdrged sdd Miopa !

W 1 S I (2) 1 oo II

(3) II sbaie III (4) II shobate IV

In E.coli., a finished polypeptide has 162 amino acids of which the first amino
acid is not a methionine compound. How many nucleotides of DNA are required
to code this polypeptide ?

G.5°96° i Sairdony FOVD HE° 162 0DS® efHSnve: HodH. IAEED
Inde oS whds NPFHWISH JowodoNId wH. K FOVP & ewmph
Sodddnme SINd e DNA &bggﬁvﬁgu Sopg Do&?

(1) 486 (2) 54

(3) 489 T 492
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The following statements are given about plant growth, hurmunes :

I. Kinetin is a degradative substance from DNA molecule.

II. ABA is present in all the plants.

III. Low ratio of cytokinins to auxins favours root formation only.

IV. ABA is synthesized catabolically through mevalonate pathway.
The correct combination is :

(1) I and II - (2) II and III
V@ 1 and III (4) 111 and IV ‘
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Which of the following substances induces mobilization of carbohydrates during
germination of barley seeds 7

(1) Auxin W’Gihberellin

(3) Cytokinin (4) Abscisic acid
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